CBSE Class 12 Chemistry (For Visually Impaired) Compartment Question Paper 2022 (August 23, Set 4- 56/B/6)
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[AETICTRIT 145771 %1 Fgd GITer-] & Jigq 3R 37 ded] & GIcr ST |
(i) 39 397-97 4 o7 12 97 8 | @4t F97 37Har% 8 |

(ii) I8 Y97-YF d17 @US] — @US &, & 3N T H 997577 & |

(iii)) @S & § 97 G&I7 1 @ 8 % 37d TY-IHIT YHR & I97 & | Fedh To7
2 37H HTE /

(iv) @IS & 7 J97 G&I1 4 @ 11 7% TH-3909 IR & J97 & | JIF I
3 37H H 5 |

(v) TUZ T H J97 G&IT 12 JH TIRT J97 & | T8 J97 5 37H] F1 8 |/
(vi) T TRIGET 37 Fepeicd & JIIT B Bl 3FHIT Tg1 & |

WUg &
1. T=feiRad (FfERT sl 36 3A1d qUIEH o S@d g HH H FeIEdd
hITST : (h13 F7) 2x1=2
(i) URe, CHg— NH,, p-Tgeitiie (&ehar ame)
(ii) CgHrNH,, CgH-NHCH;, CyzH-CH,NH, (& ehdl €HA)
(iii) CoHzNH,, (CoHz)o NH, CqH-NH, (S H fociaar)

2.  37tYfshaT <Al hifd TR ITHTsHAT shi 3TT{Udehdr o ALY 2 T~ fifgu | 2

3. THHAcIRgd AMIfhATeT ¥ drag Ta™iHe THieh gy 2x1=2
(1)  FAHE 3=
(i) TS T
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(1)

(1)

(111)

(1v)

56/B/6

This question paper contains 12 questions. All questions are
compulsory.

This question paper is divided into three Sections — Section A, B
and C.

Section A - Questions no. 1 to 3 are very short answer type
questions, carrying 2 marks each.

Section B — Questions no. 4 to 11 are short answer type questions,
carrying 3 marks each.

Section C - Question no. 12 1s a case based question, carrying
5 marks.

Use of log tables and calculators is not allowed.

SECTION A

Arrange the following compounds in the increasing order of
their property indicated : (Any fwo) 2x1=2
(1)  Aniline, CHg - NHy, p-nitroaniline (Basic strength)

(11) C6H5NH2, CGH5NHCH3, CGH5CH2NH2 (Basic strength)
(111) C2H5NH2, (02H5)2 NH, C6H5NH2 (SOIUblllty 1n water)

Write two differences between Order of reaction and

Molecularity of reaction. 2

Write the chemical equations i1nvolved 1n the following

reactions : Ix1=2
(1) Clemmensen reduction

(11) Rosenmund reduction
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4. THfIREGd % T SR TR - Ix1=3
(i)  HSRHY 9T qAT $h AN ICTEh ol DI Hid @ |
(i) el faea # Cu2+ TfiF 8 S@feh Cut TR 8 |
(iii) Mn2+/Mn IW o f¢ E° 1 9 o84 3Hfeeh ROMcHS 2idl 8 |

5. (%) 9o <hife ki rfrfsean & fow an foommes 40 571 2 1 sAfvfsraes
T T YRR TiEdr A %ﬁmwaﬁﬁmwaﬁm? 3
[log 10 = 1]

AT
(@) A 3R B T AMNHAT, Ao Jfd JoH hife i I B & Jfd
I i I 8 | HHIRgd qroft 1 39 AfHishan o T foh

LA U : 3
TRRTeh o
ST [A/M [BI/M M/firTe
I 0:1 0-1 2-:0 x 102
I1 - 0-2 40 x 102
111 0-4 0-4 _
IV - 0-2 2:0 x 102
6. (%) U¥h % [oU TH-Tsh I9Yh 3aEU ¢d gC HHIREd qgi hi
RHTST ST, Ix1=3
(i) g3 hIcISS
(i) @A
(iii) STfererreoT
AAST
@) @) (@) 7= g, @ (II) 3= 6 W Hig-sicleh TR
gHATI! dsh TRgU |
(i) AR 1 Jehid FEATGH #= 28 ? 99 H gig H
JTTERIYOT 9T =7 YT 92T @ ? 3
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SECTION B
4.  Account for the following : Ix1=3

(1) Transition metals and their compounds show catalytic
activities.

ii) Cu?t is coloured while Cut is colourless in aqueous
solution.

(iii) E° value for Mn2*/Mn couple is highly negative.

D. (a) The rate constant for a first order reaction is 40 s1. How

much time will 1t take to reduce the 1nitial concentration

of the reactant to its — th value ? llog 10 = 1] h,

10
OR

(b) The reaction between A and B i1s first order with respect to
A and zero order with respect to B. For this reaction, fill in

the blanks in the following table : 3
Initial rate
Experiment [Al/M |BI/M M/min
I 0-1 0-1 2:0 x 102
11 — 0-2 4-0 x 102
I11 0-4 0-4 —
IV — 0-2 2:0 x 102
6. (a) Define the following terms with a suitable example in
each : Ix1=3
(1)  Multimolecular colloid
(i1) Sol

(111) Adsorption
OR

(b) (1) Write the Freundlich adsorption isotherm at (I) low
pressure, and (II) high pressure.

(11) Why 1s adsorption exothermic in nature ? What is
the effect of increasing temperature on adsorption ? 3
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7.  HshHU dwdl <hl YRATNT EISTT | HshHUT 9131 hl hUM T-Aedl I=al ol
gt 2 2 3d 2ofi § forg a0 o vF T Feam Bidi R st e 2 3

8. (%) TANhdl AEY TG o YR W HHIRGd THeAl hl Hhiol
() [FeFgl°
(ii)  [Co(ox)s]™
[GTHTY] ShHTeh : Fe = 26, Co = 27]

(@) T=Iigd g% 1 g3 e
FFITUAehleTe (111 FANES 2+1=3
9. (&) UAAA b GTY ATHHAT TARIT Ix1=3
(i)  LiAlH, I
(ii) .99 NaOH i
(iii) » HCN shl
SOE|
(@) 39 FATTRId ®YT Sl TH9d T Ix1=3

(1) | TYHTEH TFA H 2-FAUASh ITFA
(Gi) WUEH ¥ t-sgfeet Ueehlgie

(ili) CHs-CH=CH-CHy—-CN ¥ CH,- CH=CH - CH, - CHO

(F) () UHH Hied-shraed NThaT 1 T8l <dl & ?

(ii) SPIEAUHE 3TTRAT & rag THinr g |
(ii) FrfaRad 4 A ot B i s=am fafau

CONH
@/ > Bry+KOH(ag) , (CHyCOR0
SUEE Ix1=3

AT
(@) utHeh, fgdlaeh Ta qelaeh THHT Al 9g== bl fg=ent fafy <
U hiteg | 3
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7. Define transition elements. Why do transition metals have
higher enthalpies of atomisation ? Which element in 3d series
has lowest enthalpy of atomisation and why ? 3

8. (a) Write the hybridization and magnetic character of the
following complexes on the basis of valence bond theory :

(i) [FeFgl*

(i)  [Co(0x)q]™
|Atomic number : Fe = 26, Co = 27]
(b) Write the formula of the following complex :

Hexaamminecobalt(11l)chloride 2+1=3
9. (a) Write the reactions of ethanal with Ix1=3
(1) LiAlH4
(11) dil NaOH
(111)  HCN
OR
(b) How will you convert the following : Ix1=3

(1)  _Ethanoic acid to 2-chloroethanoic acid
(11) ' Propanone to t-butyl alcohol
(111) CH3 — CH=CH-CHy—-CN to CH3 - CH=CH -CH, -CHO

10. (a) (1) Why does aniline not give Friedel-Crafts reaction ?
(11) Write the equation involved in carbylamine reaction.

(111) Write the structures of A and B 1n the following :

CONH
@/ 2 Br, + KOH (aq.) o (CH300%0
—s SA— =

Pyridine
3 x1=3
OR
(b) Describe Hinsberg method for the identification of
primary, secondary and tertiary amines. 3
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11. () AR IS STUHATS B HHIRGd JIFhl hl 39! F@dl
g% AISHATRATAT o ShH H SISTEAd hilT :
T, TUAd, JAH, A

(@) s-afceaEe Ueeial §9- 1 T8 e 8 7

(A1) YeA-2-3TH AR Ue9-3-3TH o HeJ [dUE hid o (0T WA
e gher fafEy | Ix1=3

Lig 1]

12. T=fafed sr=ae ! 9fen 3t = feu o gwi & 3w fafew

teh foga-taEtis 9d ° @ aifcas sagcre fagq-euset fae=m o
fafssra &d 8 | faq- e 3 @ TR % Bld § | Tedt A I
Tsh Tad; (el AR 6 TaRes ol fagq St # ®aaid sl
8, Sdich [IEd,T9eH] ¥l H Tag[d ol ol ITAN Teh A&ad: Sidd
HATUThAT HI-TH | BT & | Toh IUYh 19 | FHHSSA Sclaeis ol
U 9IS [a9d B13eioH Saidals & amiel d giwifya feram Sman 2,
{STeeh! Ak SIS farva =1 HHT STl 8 |

Teh TIq-3TTeredl Taoadq bl dretehdl, (k), TaeId-3T9=resl hl HIgdl,
farcTreh shl Uehfd Td d19 W HHL ShEdl 3 | ATctehdl ST HITR =ATeTehd]
(Apyy) ST Bl e <Y Tigar & wftad= < @y uftafda gt & |

(1) 39 Tead! 9o ol H&iua shifore e e stiyyfsha 2l 2
7n (s) + 2Ag+ (aq.) —— Zn?* (aq.) + 2Ag (s)
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11.

12.

56/B/6

(a) Arrange the following compounds in increasing order of

their reactivity in nucleophilic addition reactions :

Ethanal, Propanal, Propanone, Butanone
(b) Why does Benzaldehyde not undergo aldol condensation ?

(c) Write a simple chemical test to distinguish between
Pentan-2-one and Pentan-3-one. Fx1=3

SECTION C

Read the passage given below and answer the questions that

follow :

An electrochemical cell consists of two metallic electrodes
dipping in_electrolytic solutions. Electrochemical cells are of
two types. In galvanic cell, the chemical energy of spontaneous
redox reaction 1s converted into electrical work, whereas in an
electrolytic-cell, ' electrical energy 1s used to carry out a
non-spontaneous redox reaction. The standard electrode
potential for any electrode dipping in an appropriate solution
1s defined with respect to standard electrode potential of
hydrogen electrode taken as zero.

The conductivity (k) of an electrolytic solution depends on the
concentration of the electrolyte, nature of solvent and
temperature. Both conductivity and molar conductivity (A,,)
vary with concentration of solution.

(1)  Depict the galvanic cell in which the following reaction

takes place :

7n (s) + 2Ag* (aq.) —— Zn?* (aq.) + 2Ag (s)
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(ii) T BT 8 SI& T T ST fava fogq-uEmiee ¥ & ES
g 3fYes g1 8 ?

(jil) TRl 3T I DATAhdl HTgdTl oh 1Y hd UiEidd gidt a 2
(iv) (%) TH=feTRgd STHishAT o 1T A G UftehicTd I -

7n (s) + 2Ag+* (aq.) —— Zn?* (aq.) + 2Ag (s)

fean T 2 E2_ =156V, 1F =96500 C mol-1

HUAT

(@) 25°C W HHfARgd T &1 emf TRehoTd hIWT
7n (s) + 2Ag+ (0-:01 M) — Zn?* (0-1 M) + 2Ag (s)
fesm 1= 3 ES = 1:56.V

| log 2 =0-3010, log 3 =0-4771, log10=1]
I1+1+1+2=5
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(11) What happens when external potential applied is greater

than Egell of electrochemical cell ?

(111) How do conductivity and molar conductivity vary with
concentration ?

(iv) (a) Calculate A,.G” of the following reaction :

7n (s) + 2Ag* (aq.) —> Zn?* (aq.) + 2Ag (s)
(Given : Egell =156V, 1F = 96500 C mol-1

OR

(b) Calculate the emf of the following cell at 25°C :

7n (s) + 2Ag+ (0:01 M) —— Zn2* (0:1 M) + 2Ag (s)
Given: E? .. =156V

cell
log 2= 0-:3010, log 3 =0:4771, log 10 = 1]
I1+1+14+2=5
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